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I faz K 4 OutT  |IN GR |HDCP NET . N iz K 4 Out N GR HDCP NET e N iz K 4 Out  |IN GR HDCP NET e
L1l ERK RE 40 45 85 | 21.0 640 AE BG 41 Wi A& 417 50 | 102 | 240 78.0 81 AR BZ 46 54 100 170 83.0
INE FE i 41 46 87 220 650 AR 42 RE ZEA 59 51 106 270 79.0 82 Kix m= 48 57 105 220 83.0

3 HiR B8R 417 39 86 | 200 66.0 AE 43 BEfm &l 56 53 109 | 300 79.0 83 FAR X 53 51 104 200 840

4 BHF 85 43 47 90 | 22.0 68.0 AE 44 AHE #E 50 48 98 | 19.0 79.0 84 K #F 52 50 102 180 84.0

5 & Za 46 42 88 180 70.0 AE INRyb:33 45 AKX =l 50 49 9 | 200 79.0 85 =H B 50 56 106 220 84.0

6 INR EX 48 51 9 290 700 INRYH:36.5 46 g =& 49 50 99 | 200 79.0 86 Ak EX 48 54 102 18.0 840

] Nk ZEth 44 47 91 | 21.0 700 INRyk:36.5 47 EZx 2 45 50 9% | 16.0 79.0 87 Bk B 53 49 102 170 | 850

8 REE BB 50 46 9% 250 710 48 aH F 48 56 104 250 79.0 88 Il s 53 50 103 | 18.0 H 85.0

9 #E BEA 44 46 9 190 71.0 49 MMA & 52 50 102 | 220 | 80.0 89 BEH TR 52 50 102 170 850

10 B 15 48 47 9% | 23.0 720 50 ERAR #2 49 49 98 | 18.0 | 80.0 90 RHE H— 51 50 101 16.0 85.0

11 mlil A 44 45 89 170 720 51 K =45 48 49 97 | 17.0 800 91 Hif K& 58 57 115 300 85.0

12 ha Tz 43 46 89 ' 17.0 720 52 E# th—ER 417 50 97 | 17.0 800 92 BH 18 50 52 102 170 850

13 SHl FER 43 50 93 | 21.0 720 53 WA EE 51 54 105 | 25.0 | 80.0 93 na - 49 52 101 160 85.0

14 H#E —C 41 49 90 180 720 54 fIER = 48 52 100 | 200 80.0 94 A+ W 417 54 101 160 85.0

15 AGRHE # 56 47 103 300 @ 73.0 59 BH A& 46 50 9 | 16.0 80.0 95 =% Bt 61 51 112 260 86.0

16 XiI o— 44 45 89 160 73.0 56 RA fhiA 46 54 100 | 20.0 | 80.0 96 KH S 52 53 105 19.0 86.0

17 g ER 45 47 92 19.0 730 57 =% #—H 44 52 9 | 16.0 | 80.0 97 =g BIE 56 60 116 300 86.0

18 ERKR =B 40 49 89 160 73.0 58 I\XF &= 55 45 100 | 19.0 81.0 98 =H H5h 49 54 103 170 86.0

19 $7H & 45 45 90 160 740 59 s k& 56 51 107 260 81.0 99 A F—- 50 56 106 20.0 86.0

20 2R K& 42 48 90 160 740 60 #H 88E 53 51 104 230 81.0 100 =28 62 43 105 180 | 87.0

21 =B K& 49 44 93 180 75.0 61 Ha# FX 48 50 98 170 81.0 101 Ha F 57 52 109 220 870

22 IWE 24 49 45 94 190 75.0 62 Nk f2—ER 45 52 97 | 16.0 81.0 102 =F & 51 52 103 16.0 87.0

23 XE Fx 46 46 92 ' 17.0 750 63 WA FE 57 48 105 | 23.0 | 82.0 103 \Y S T 50 53 103 160 87.0

24 A % 48 45 93 ' 17.0 76.0 64 HF Mz 50 50 100 | 18.0 820 104 BH EH 51 55 106 19.0 87.0

25 iR EZ 46 48 94 180 76.0 65 B #i— 49 51 100 180 820 105 e BX 48 5/ 105 180 87.0

26 HiE 18— 44 50 94 180 76.0 66 ik FEB 54 5% | 110 | 280 820 106 =g 5 54 53 107 19.0 88.0

2] &k M2 52 45 97 200 770 67 =X 50 53 103 | 21.0 820 107 FHI & 54 53 107 19.0 88.0

28 RR —%k 49 46 9% 180 770 68 EH &= 48 51 9 170 820 108 E & 51 56 107 19.0 88.0

29 o BE 48 48 9% 190 770 69 Hek @F 49 56 | 105 | 23.0 820 109 % & 51 56 107 19.0 88.0

30 Hp =F 57 51 108 | 300 78.0 10 RE & 53 47 100 | 17.0 | 83.0 110 BiF IE— 51 60 111 230 | 88.0

31 #a RED 57 51 108 300 78.0 I PR —x 59 49 104 210 | 83.0 111 BH EX 46 59 105 170 88.0

32 frH Ef2 59 51 106  28.0 @ 78.0 12 EH FH 54 49 103 | 200 83.0 112 i BR— 54 65 119 300 | 89.0

33 X& \X 49 46 9% | 17.0 780 13 EH EIE 53 49 102 | 19.0 | 83.0 113 FME ME 54 61 115 240 910

34 ESH #= 48 48 9% 180 78.0 14 b IR 53 50 103 | 200 83.0 114 hf = 59 62 117 230 | 940

35 e B3 50 50 100 220 78.0 15 BiR # 58 55 113 | 30.0 83.0 115 FH+ & 53 61 114 190 95.0

36 WiE = 48 49 97 | 19.0 78.0 16 MNE E= 53 53 106 | 23.0 83.0 =g FTAR il 48 46 94 190 75.0 AIE[2023.7]
37 FH HF 48 49 97 | 19.0 78.0 11 REE kg 51 50 106 | 23.0 83.0 ARE AH WX 48 57 105 300 75.0 & m
38 Bl Ex 417 48 9% 17.0 780 18 #EH EE 54 58 112 | 290 83.0 ARE  IH R 54 53 107 | 23.0  84.0 AIE[2024.2]
39 el 13 47 49 9% 180 78.0 19 M3+ & 49 54 103 | 200 83.0 =g & F 49 51 100 16.0 84.0 AIE[2023.11]
40 +% 2R 417 55 102 240 | 78.0 80 Nk F 417 55 102 | 19.0 | 83.0 EBE DME BT 58 60 118 30.0 | 88.0 & m
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